Power (m°/Hz)
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030511:GE107 window= 1
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GL—-UD:030511; 1-69 —
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| | [ IIII| | | [ IIII| | | [ IIII| | | L1 IIII_
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window= 1
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69 kek030511:GE107 window= 1

I I [ IIII| I I [ IIII| I I [ IIII| I I T IIII:
GL-EW:030511; 1-69 —
amp=1.24E—-07 f> 10Hz1

| amp=1.49E-07 f> 1Hz |
amp=3.34E—-07 £>0.1Hz -

| | [ IIII| | | [ IIII| | | [ IIII| | | L1 IIII_
101 100 10l 107

Frequency (Hz)

Integrated Amplitude (m)
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030511:GE107

window= 1
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amp=2.71E—09 f> 10Hz 1
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data; seg= 8192 tot= 360600 overlap= 0.75
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- UG—NS:030511; 1-69 —
2 amp=3.18E—-09 f> 10Hz"
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| | IIIIII| | | IIIIII| | | IIIIII| | | III\\III_
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data; seg= 8192 tot= 360600 overlap= 0.75

nseg= 69

kek030511:GE107
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
UD :kek030511:GE107
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GElO?OOZ data#:seg= 8192 nseg= 69; overlap= 0.75 dt= 0.005sec
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data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030511:GE107

I I T III| I I T III| I I [ IIII| I I T IIII:

- GE107.001 , 1— 0 —
R amp=8.58E—-08 f> 10Hz"
| amp=1.28E-07 f> 1Hz |
T amp=<.00E-07 £>0.1Hz -
N I
- i : i
L N \ —
. rgain= 1. " ?
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 amp=1.14E-07 > 1Hz =
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Power (m°/Hz)

data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 UD :kek030511:GE107

1079 I I I |||||| I I I |||||| I I I |||||| I I I |||||:
- GE107.004 ; 1— O —

R amp=2.71E—-09 f> 10Hz"

012 | amp=<.21E-08 f> 1Hz |
amp=1.09E-07 >0.1Hz -

10~ 19 |— RN i
N Vs -

- \\ —

0-18 | _
. rgain= 1. \ ]

Noise Int.Amp. N .

- amp=2.00E—-09 > 10Hz AN BE
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data; seg= 8192 tot= 360600 overlap= 0.75
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amp=1.37E-07 > 1Hz |
amp=3.32E—07 f>0.1Hz

rgain= 1.
Noise Int.Amp.

amp=1.25E-07 > 1Hz
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data; seg= 8192 tot= 360600 overlap= 0.75
nseg= 69 NS :kek030511:GE107

I I T IIII| I I T IIII| I I T IIII| I I T IIII:

- GE107.006 ; 1— 0 —
R amp=3.18E—-09 f> 10Hz1
L amp=1.33E-08 f> 1Hz |
TRy, amp=2.46E—-07 £>0.1Hz 3

. rgain= 1. §
Noise Int.Amp. .
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101 109 101 10

Frequency (Hz)

Integrated Amplitude (m)



Ratio

10°

101

100

data; seg= 8192 tot= 360600 overlap= 0.75
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data; seg= 8192 tot= 360600 overlap=
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EW kek030511:GE107

| rgain=

1.
Noise Int.Amp.

GE107.003 ; 1— 0O

amp=1.24E—07 f> 10Hz 1
amp=1.49E-07 > 1Hz |
amp=3.34E—-07 f>0.1Hz
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data; seg= 8192 tot= 360600 overlap=
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data; seg= 8192 tot= 360600 overlap=
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